TERRAIN KEY and explanation of its effects on play.
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Movement: One Movement Point per | Movement: Movement: One Movement Point per
hex entered. Entry Prohibited. hex entered. Woods-Roads may be
entered or exited only through a hexside
Combat: No effect. Combat: Blocking | crossed byaroad.

Terrain (see note).
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Combat: Defender in hex is doubled in

Note: Woods and Woods-Road terrain block artillery bombardment over such hexes. \\,;luedWhen ca;llculatmg (ionl:‘?at rat|o§.
For example, an artillery unit in hex 0803 could not fire into hex 0805 (but could fire oods-Road hexes are bloc Ing terrain
into 0705 and 0905) because of the intervening woods in hex 0804. Artillery may bom- | (S€€ note).

bard into Woods-Road hexes (for example, from 0912 into 0914).

GAME-TURN RECORD TRACK (advance marker to record passage of each Game-Turn)
3pm Spm 7pm | 8pm

Prus Var
Reinf

Ar

2d
id 1a ida
ia

Ae Ae Ae Ae Ar

°d 9 9
2d 2d
°d 2d =d

2 Ae Aec

Ar
| 4 Ae Ae Ae Ar Ar Dr Dr Dr




4IS1L

9ISt

£iS1

Cisi

1St

0iSlL

B80St

80S!

£0S1

)

—
i<

9051

S0S1

#0S1

ansi

i 7

St

ivl

Livl

(¢184%

60P1L

80vl

/

L0v1

SopL

£ovl

ol

le

[

ay

E 9ict

9igl
nmu GiZl
Gigl
E vzl
viEL
€icL
OlLISOd
1€l
zizt
ZigL
LIl
THE
Pt
ozl
L€l m
60ZL
60EL
0zL
™~
80EL
i (41
S~ Y
2
L0810
M et
9081
S0ZL
vOzZL
YOEL
£0z1
£0EL
zozi
zo€L
Lozt
10gL

LI
%
St

il
A
Si0i

Gltt
X
y101

viLl
3

JHL

€Ll
Ziol

ciil
-ALLIED P h o7

Litt m
n 010t

otit
\\\ 6001
6011
8
8011
£001
011
9001
4
S001L
SOt
l
POLL
\I kA
i
o
-
©
oS
v
z0tL

W

z M1

ol

160

9160

Si60

ZL60

L1680

6060

8060

£060

9060

S060

€060

2060

1060

9180

S180

¥180

7180

L 180

0180

6080

8080

£080

9080

S080

€080

2080

LILO

9140

0

VLo

ELL0

ciio

Li/0

040

8040

0.0

€040

2040

L0L0

Si90

vi90

€190

'r Merbe{Braine

]
8

£090

B

090

€090

1090

9160

vis0

€150

ZL80

L1G0

6050

8050

¥0S0

€050

20s0

L0S0

9Lp0

Siv0

vivo

Ci¥0

Liv0

60v0

800

L0v0

£0v0

Zov0

Lov0

1€ L110
9120
4
9LE0 9110
Q9D
§120
=/
gt SL1o
v1Z0
kmo viio
£120
£1£0 €110
2Lz0
e
S\ aw
Z1£0 z
~
&S
LleQ
LIEO0 m Lo
=
it
o)
m 0120
OLEOD 0L 10
Aﬂ_vo _— 6010
F
80€0 8010
L0Z0
LOEO / {010
9020
90£0 9010
G020
50£0 5010
020
v0E0 v010
£020
£0£0 £010
2020
Z0€0 % 2010
H 1020 F
LOE0 L0Lo





